
1

1

2

2

3

3

4

4

D D

C C

B B

A A

Altium Limited
L3, 12A Rodborough Road
Frenchs Forest
NSW 2086
Australia

NB2 Speaker Board
1.07

29/01/2008 7:22:57 PM
NB2DSK-SPK.SchDoc

Project Title

Size: Assy:

Date:
File:

Revision:

Time:
A4

Sheet Title

1 2Sheet of

Speaker Board

D-000-0023

MH1

MOUNTING_HOLE_2MM

MH2

MOUNTING_HOLE_2MM

MH3

MOUNTING_HOLE_2MM

MH4

MOUNTING_HOLE_2MM

MH5

MOUNTING_HOLE_2MM

MH6

MOUNTING_HOLE_2MM

MH7

MOUNTING_HOLE_2MM

MH8

MOUNTING_HOLE_2MM

D
C

_V
O

L

5V0

D
IN

2
SC

LK
2

L_
PL

U
S

L_
M

IN
U

S

R
_P

LU
S

R
_M

IN
U

S

Printed Circuit Board (Bare)
PCB1

NB2DSK-SPK PCB

1
2

SPKL

SPEAKER_4R_50_60

1
2 SPKR

SPEAKER_4R_50_60

S2

M3 x 6mm Black Zinc Screw

S4

M3 x 6mm Black Zinc Screw

S3

M3 x 6mm Black Zinc Screw

S1

M3 x 6mm Black Zinc Screw

N1

M3 Stainless Nut

N3

M3 Stainless Nut

N2

M3 Stainless Nut

N4

M3 Stainless Nut

SCLK1

/CS2

P0 3

P1 4

P2 5

P3 6

P4 7

GND8

P5 9

P6 10

P7 11

P8 12

P9 13

DOUT/OSC14 DIN15

V+16
U1

MAX6966, QSOP16

SCLK1

/CS2

P0 3

P1 4

P2 5

P3 6

P4 7

GND8

P5 9

P6 10

P7 11

P8 12

P9 13

DOUT/OSC14 DIN15

V+16
U2

MAX6966, QSOP16

A
B

G

R

LED1

RGB LED 5MM

A
B

G

R

LED2

RGB LED 5MM

A
B

G

R

LED3

RGB LED 5MM

A
B

G

R

LED4

RGB LED 5MM

A
B

G

R

LED5

RGB LED 5MM

A
B

G

R

LED6

RGB LED 5MM

GND

GND

5V0

C2
0.1uF 16V

C3
0.1uF 16V

GND

GND
SC

LK
1

D
IN

1

1
2

3
4

5
6

7
8

9
10

11
12

13
14

15
16

HDR1
2x8 Header 0.1" Staight

3V3

C
S1

_N
C

S2
_N

O
N

E_
W

IR
E

C1
220uF 10V

GND

ONE_WIRE

U_1WB_DS2406_EPROM
1WB_DS2406_EPROMID

PIO2
PIO1

3V3

3V3

PIO1

PI
O

1

ONE_WIRE

SCLK1

DIN1
CS1_N

3V3

3V3

SCLK2

DIN2
CS2_N

5V0

5V0

LOGO1



1

1

2

2

3

3

4

4

D D

C C

B B

A A

Altium Limited
L3, 12A Rodborough Road
Frenchs Forest
NSW 2086
Australia

NB2 Speaker Board
1.07

29/01/2008 7:22:57 PM
1WB_DS2406_EPROM.SchDoc

Project Title

Size: Assy:

Date:
File:

Revision:

Time:
A4

Sheet Title

2 2Sheet of

1-Wire Bus ID

D-000-0023

C2
10nF 16V

3V3

3V3

C1
0.1uF 16V

3V3

PIOA 3

Vcc4 DATA 2

GND1 NC5 PIOB 6

U1

DS2406

ID
PIO2
PIO1

ONE_WIRE


